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EGSA Communications Officer
Position Description and Responsibilities

1. Overview

OPI JZZK[E<j(]J[h $WEIgh < Z1ZDIg INjP1 GKE<jI][ 9<CGk<jl /jkGI[]
hh]E<jOQL h rIEKjQpl 01<Z OPth Z1ZD1g(h glhd] [hDYE N]g g1E]9GI[O ZO[KkjIh N
Z11j)[Oh EgEKY<j[0 Z{[Kjlh jPg]kOP <[ <ddg]p<'dg]EIhh <[G dg]piGO[0 jPI Z([kjlIh
1Pl /7 [ <GGY(][ jPh Z1ZDIg E]V<D]o<jlh qUjP 1jPlg Z1ZDIgh N jPI jI<Z j]
I[hkgl dIgjQL N[ OINJoZ<jQQ [ th hP<glIG [ < j0ZIYs Z<[[1g

2. Responsibilities Overview

OPGh Oh < DgI<XG]q[ INjPI <ddg]riZ<jl dIgEl[j<O1 INjPI g1 h j0Z1 hd I [j T jP1 Z<[
E<j10]q1h DIT]q
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3. Introduction to Role

jjP1hj<gj INsTkg <ddJQ[GZI[j <h jP1 T1ZZK[E<j{][h SMWEIg N<Z<givl sTkghIW
qjP jPINIW] V[0 GJEKZ I [jh dg]ElhhTh
A/ 1hkidL
< 7P<j OPhGJEKZI[j Ik Th jPI Ng<Z1q]gX Ds qPIEP jP(h E<kEkh
Jdlg<jlh
D  1g(jiZd<ejhs]k sgl<G)[0<[GK[GIghj<[G)[0 jPh G]JEKZI[]j (j P1Ydh
j1 DHjjlgQIN]9Z sTkg 1al g1 <h gl <h jP1 g]VI JN jP1 E<kEkh
E  7PIgl j]NM[GjPth OPhh YJE<JIG]L <[p<h<[G 7/ qlIDhjjl
A _IDIgj -kIh N $gGlg
< 7P<j OPh(h<glIE]JO[VIG OK(GT j] gk [O[O Z 1 1jQ[Onh INNIEjQpIYs
D ]q(jiZd<gjhs]k 0] k[Glghj<[G P]qg j] DIhj d<gjlEld<jl k[Glg jPI
OKIG<[EN IV jPth $gGlg <[G j] DIjjlg j<XI Zi[kjlh<j jP1 Z11})[O
E 7PIglj] WG jPth Z1<geP TN <[G s]k E<[ N[ G < D<hE Jplgpllg N
jPth



A /1 <[p<h /
< 7P<j OPhh <[ JIN[1 E]1ZZKLE<{I] [ di<j\]9Z jP<jjPl 7/ khlhj]
hP<gl <OI[G<h ZHIJ[OQIN]9Z<jld[ ZUkjth <[G [1[ kgOI[j Z<jjlgh
OPth th <fh] < hd<EIl khIG j] E]J[J[KI Gohekhh(] [h gPlgl [1EIhh<gs
D 19 (Zd<Ejhs]k OPthth qPlIgl sk qiff dJhj Z11j0[0 Z{[Kjlh OPth th
jP1 hd<El gPIgl jP1 <ddg]p<! IN Z0[KjIh <th] JEEKg
E- 7PIgl JINIG jPhh 7PILsIKLjPI /7 s]k qYglENpT <[OLpGi<jll L
pi< 1Z<U JTIMLjPI 7/ <[p<hhd<El ¥E<[p<h h\k E<]
A rIEKjplh Z<[O Yohj
< 7P<j OPh(h jPI 1Z<)f <GGglhh khIG Ds Ir1EKjpl Z1ZDlgh j]
E1ZZKE<j1 Z]gl JIZ1 hI[hQop 1 (N1 gZ<j00 [ 51 1iP1g ITIEKj(pI
Z1ZDIgh $B[Vs IrlEKjipl Z1ZDIgh E<[ h1[G j] jPth 10hj
D 1q(j(Zd<kjhs]k 9]k qQv khl jrth qPIL jPIgl (h (Zd]gj<[j ([NeZ<jll [
j1 hP<gl qUjP jPI Og]kd 9]k qiff <th] khl jPoh j] E]ds 1Z<@h hI[] j] jPI
/7 g10<gG)[0 Z{[KkjIh <h<ddg]dg)<jl
E 7PIgl jIN[GjPth 7ZPI[s]kIMLjPI 7/ s]lkqit DI <GGIG j] jPth
Z<MN[O Yohj



